1€°201'928% 15281'1G$ 1528v'1G$ +6'685'£L8% - ¥6'685'£48% 13[npy ey ap jedidiunpy oSy
¥ E70°0L1L$ 99°'€5€'6$ 99°€5£'6$ 0v'/6E6LLS = 0b'Z6E6L1$ seuaBipuj sojgeng
00°000'G2$ - = 00'000°G2$ = 00'000°G2$ OueI3A 3p 0SIND
25°006'82% vLv1L0'9$ vLv10'9% 99't16'v8% - 99t 16'v8$ eoajolqIg
01220'9€1$ 62'9€5°01$ 62°985°01$ 6£°855'971$ - 6E'855°9v1$ ugigeuIaqon
00'000°62$ - = 00'000°G2$ - 00'000°62$ ojanqy [3p eiq
00°000°'052$ - - 00'000'052$ - 00'000°052$ saipeyy se| ap eig
00'000°002$ = & 00°'000'002$ 2 00'000°'002% oulN |2p eig
00°000°0€$ = - 00'000°0€$ - 00°000°0€$ SeA[}39]0) sepog
00°000'162$ - - 00°000'162$% - 00°000°162% sokay ap vIg
2L 1y LL0'ES 95°0v0'8Y L $ 95'0v0'8yL$ 82'889'612'€$ - 82'889'612'€$ (410) ledoungy ejjwey e ap |eibaju) ewalsis
¥0'v29'802% ¥9'1GE'G1S ¥9'1GE'GLS 89'G/6'cze$ - 89'G/6'cee$ owsun})
2/'855'9/2% ¥5'996'02$ ¥5°996'02$ 92'925'/62% - 92'925'/62% 019J3Wo)
GG'951'062 LS 1'828'VS$ 17'828'vS$ 96'¥E0'SYE'LS = 96'VE0'SYE LS ouendadosby ojuawoy
89'v0E'E8S 1§ SY'8/G'9LLS GY'625'9L 1S £1'v88'669 1§ - £1'¥88'669'1$ elgpeuen
15°'G68'0E6'ES £8'688'152$ £8'688'152$ 0v'582'281 v$ 65'0.2°0-% 66°'G50'€52'v$ lofep eyerdyo
L'G66'8€8'CS$ ¥0'150'2€2$ ¥0°150'2€2$ 1§'9v0°120'E$ - LS9¥0°1L0'E$ sajeddiunyy sayuabeqng A sajuaby
£€2'9.6'82¢'+$ 66'20S'701$ 66'20S'70+$ 2CBLY'EEY 1S - 2eeLY'EEY 1S euiaju| elojenuo)
00°000°'0€$ - = 00°000°'0€$ - 00°000°0€$ souanyy ap eiq
20'614'G08 LS 6L v8v'6C+$ 6L v87'621$ 18°€02'GE6 1 = 18°€02'5E6' 1 e14e]2199g
¥8'0€€'26.$ 86'210'85$ 86'210'85$ 28°'evE058% = 28°'cvE0598$ eunp eunpibay
L¥'G98'v6.$ t'800'85$ ¥¥°'800°'85$ G8'£/8'258% - G8'£/8'258% eyen? eunpibay
¥8'81'86.% 98'866'£5$ 98'866'L5$ 02'/L1'958% - 0/'221'958% v19213) eunpibey
00'000'052$ - . 00'000°052$ - 00°000°052$ onsaey |19p eiq
G'28s'9Ly'eh 0}'£20°'59% 0}°220'99% G5'609'18¥'2$ - G5'609'18¥'c$ epunbag eunpibay
€€ LE'G98% 86'228'85% 86'228'85% LE'60Ev26$ = LE'60Ev26$ esdwiid eunpibiay
00°000°00%$ - g 00'000°00¥$ = 00°000°00%$ pepIAeN 8p pepiAlSay
81°Gp1'206$ £6'L5V'vES €6°L5Y VES LL'E09° LSS - LL'E09° L¥S$ SO2IPUN[ SOUNSY
£1'686'c19'2$ Py 89P°€0 L vv'89Y'€0L$ YAWAS AVAA - PAWAC AVA S 091U 09ipuIs
VAR TAAS S €£2'€02'G2$ £2'€02'S2$ 0L Lv¥'29¢e$ - 0L L+'29¢e$ e21|qNd UOIDBWIOLU| €] B 05222y 9p pepiuf)
£2°826'LLL$ 61'672'85$ 61" 672'85$ 92'8.1'0€8% - 9z'8.1°'0£8% IIAID U019933104d
95°/80°2er 91 $ 2e9LLLL9% 2e9LL'LL9% 88°ELC60LLLS = 88°ELC60L'LLS elauapisaid
00°682'101$ = 5 00'G82°10L$ = 00'582°101$ fedidjunpy eouapisaid
r-£)=19 g v e+)=¢ . 1
sauojsanpay
oigio1alagng opebed opeBusnag opesiipo / sauojsejdwy opeqoidy ojdasuo)
sosaibg

GZ0Z 9P 043u3 3p L |e 019U 3p | |3p

BAjjelISIUIUpY Uoldealise|)
sosaifig ap o1sandnsaid jap 0191918(3 jop od1ljeuy opels3
elej) zenbupoy uenp




YH3IHOS3L

39 SOIHHYa VIMVSOod "0

(ondga s

czZod - Nmaw
YONN93IS ¥

 71EN01934

VANND3S vdOAID3Y
NOF V13UvaINg NIA

w<2wom<m_ Z3aNv[4aoy 2143 0

IVdIOINN 31IN3AIS3Hd

Z9eSLLLY9LLS 6.°802°€€2°S$ pESY8‘LSESS 96'866'892°181$-.|00°000°005$ N & wmqnmu:.,w.& ojsen [3p [elo]

88°'660'889°1$ 06128'EL1$ 06 v28'EL+$ 8,°816 108"} O - 87°816°T08 1§ a1 oxsibey
82'G81'66v$ ELveESVES el veeves L' 617'EES$ A 17 611'€ES$ oJseje)
0€'vEL'SYe'LLS 19'666' L¥9$ 91'9€1'09.$ 94°0/2'S00'81$ i 9b°0,2'500'8+$ eLIB10S3)
89°Lv0'LEL'6S 00295°285% 00'295285% 89'609'CtL'6% . 89°609'€1L'6% eo)jqnd pepunhag
09'8G1L'9LL 1§ 68'118'2¢$ 68'v182E$ 6v°'€,6'802°L$ - 61°€26'802°L$ 0211qnd opeiquin)y
65'9/2'068'2$ ¥0'52r'86L$ v0'G2y'861$ £9°10/2'880'8% 65°0/2'0L% v0'LEY'810'8S lejnaiyap anbied A eueunbepy
50'826'089'6$ G/'2ve'TLeS G/ '2ve'eLeS 08'0/2°€50'01$ ~ 08'0/2'€50'01$ eslqng erdwi
90'€80°G80'2L$ 0Z'v6€'v9L$ 02 ¥6£v9L$ 92 LLy'6v8'LLS 00°000'00S$ 92 LLV'6YE'LLS sealqnd seiqo 9p uo1xdaaq
¥€£00°G9€$ 98'856'L1$ 98'856'LV$ 02'996'¢v$ ® 02'996'21+$ aualquuy OIPay |2p UQIDBAISSAld
G2'620'2€5$ vv'L28'62$ v £28'Se$ 61°£06'£55% = 61'€06'£G5$ apnwo)
00°000°00%$ = ¥ 00°000°00%$ - 00°000°00v$ aiquiandag ap G pepiAlsay
00°000°'05$ - = 00°000°05$ - 00°000°05$ euedIXapy UoIIN|oAsY e 8p BIg 3|yseq
00°000°000'v$ - - 00°000'000'v$ - 00°000°000'v$ 520z eua4 odx3
00°000'22$ - - 00°000'22$ - 00'000'22$ elejapue) PepPIAlSaS
¥t°'982'029$ 0b'¥9v'2e$ Ov'¥9¥'2€$ #8'0G2'259% 4 ¥8'05.'259$ [eanyng ojjouesaq
266LLPLE ¢ . 26'BLLYLS : 26'6LL YIS uoioeanpg
25681 '66G$ 6€°L¥C'6E$ 6€°L¥2'6E$ 16'2€1'8€9% i 16'261'8€9% [e100S uooedIUNWOoY

r-€)=9 S v c+i)=¢ z L
S3U0|29Npay
oivosslegns opebed opefuanag opesyipon |/ sauojsejdwy opeqoidy ojdasuon
sosaibg

GZ0Z 9p 013u3 2p £ (e 012U3 3p | |3p
BALJRIISIUIUPY UoldRdISEeD
sosaifg ap o)sandnsaid [9p 0191943l |9p od1lljeuy opels3
eie|) zenbupoy uenp




